
Jahrgangsstufe  11   *   Komplexe Zahlen    
 
Quadratische Gleichungen in C 
 
 
 
Lösen Sie die Gleichungen in der Grundmenge C. 
 
 
1. 2 8 6z i= −  

2. 2 3,75 2z i= −  

3. 2 4 13 0z z− + =                                                        0     0 

4. 2 3 3,25 0z z+ + =  

5. 2 (1 2 ) 1 7 0z i z i+ + + + =  

6. 2 ( 3) 4 3 0z i z i+ − + − =  

7. 2 ( 2 2 ) 2 3 0i z i z i− + − + =  

8. 4 2( 2 4 ) 3 4z i z i+ + = +  

9. 2
2

4
4

i
z i

z
− = −  

 
 
 
 
 
 
Lösungen: 
 
1. 1/ 2 (3 )z i= ± −  

2. 1/ 2 ( 2 0,5 )z i= ± −  

3. 1/ 2 2 3z i= ±  

4. 1/ 2 1,5z i= − ±  

5. 1 21 3 ; 2z i z i= − = − +  

6. 1 21 2 ; 2z i z i= − = +  

7. 1 22 3 ;z i z i= − =  

8. 1 2 3 41 ; 1 ; 1 2 ; 1 2z z z i z i= = − = − = − +  

9. 1 2 3 4

2 2 2 2
2 ; 2 ; ;

2 2 2 2
z i z i z i z i= = − = + = − −  
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